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gram xreosi_kinitou
Var

sum, mo, synoliki_xreosi: real;
ogkos_dedomenon, i: integer;
begin

sum:=0;
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fori:=1to 50 do

begin

readl(name, ogkos_dedomenon); ===p [1. YnoepwTnua
if ogkos_dedomenon<=2 then

synoliki_xreosi:= 10 *ogkos+3

else l

if ogkos_dedomenon <= 6 then 2. Ynoep pa
synoliki_xreosi: =(ogkos-2)*2.5+2*10+3

else

synoliki_xreosi: =(ogkos-6)*1.5+2*10+4*2.5+3; O
writeln(name, synoliki_xreosi); === T[3. YnoepwTtnua
sum:=sum-+synoloiki_xreosi;
end; !
mo:=sum/50; 4. Ynoepwtnua
writeln(mo); j
end.
©EMA A @
Program xreosi_oximatos
Var
metritis, epivates: integer;
typos_oximatos: char;
sum, xreosi:real;
procedure ypologismos (kostos, ty
var
pass:integer; O
typ:char;
kostos:real;
begin
readin(typ,pass);
if typ= ‘Aytokinito’ then
kostos:=10+pass*5
else
if typ= ‘Mixani’ the
else
kostos:=30+p ;
end;
begin

kostos:=20+pass*
metritis: =0;

m:=sum-+Xxreosi;
il typos_oximatos= ‘TEAOZ’
writeln(metritis, sum);

end.

NaparTnpnoeig: Ta 6¢paTta oto oUVOAO Toug XapakTnpifovtal HETpIag duokoAidg.

EmipéAsia: Euayyelia Mitoika
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